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5. It is know that three side lengths (:£ ) of quadrilateral (= ¥
45) are give as shown at the right. What is the area (& ##) of
this quadrilateral in square units?
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6. Michael and Victor depart (! %) from (&) city A toward (2 ) city B. Victor departs 6
minutes (4 4&) after Michael ( % Michael 2. &), but Victor arrives (¥]i£) in city B 6
minutes earlier than (& *) Michael. It is known that Michael walks 40 m/min, but
Victor’s speed (i# & ) is 1.5 times( % ) Michael’s speed. What is the distance in meters
between city A and city B?
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